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Answer all questions

This Question Paper consists of 28 pages. Each Multiple Choice Question (MCQ)
is provided with four options (A}, (B}, (C) and (D). Identify the correct option and
darken/fill the corresponding circle (A)/(B)/(C)/(D) with Blue/Black Ballpoint Pen
on the OMR Answer Sheet.

For each question, 4 marks will be awarded for correct answer and for each
wrong answer | mark will be deducted.
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PHYSICS

If Gis the universal gravitational constant, M is the mass of the sun and ris
the distance of a planet from the sun. Their time period of revolution of that

planet will be
T=2x|—
A 3

rﬁ

(B) T= oM

(c) T= E:,”Ig

r
T =2x, [—
(D) P

TR TN FF G, T T M IT: T (N0 G 4R T r oA, 95T S
ifeare 5@

GM
() T=2m/—5

r

[ 3
(B) T=2x oM
(C) T=2TI1||-{%J-

*
(D) =2 E'II-?

2. The force required to snap a copper wire of radius 1 mm is 10 N. Then how

3

much force will be required to snap another copper wire of radius 3 mm?

(A) 90 N (B) 45N
10
[C) 30 N (D) 5 N

1 mm T @5 S SEE EEE 10 N 909 #0e | 91 3 mm TIPI0R oEm
TR [BEE AN TS I HTAER wWAT

[A) 9O N (B) 45N
10
(C) 30N (D) % N
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. The energy reguired to produce a liquid bubble of radius ris E. Then the

energy required to produce a bubble of radius 2r and of same liquid is
(A) BE (B) 4E
(C) 2E (D) E/j2

r APITER 4T Taw T i FA0S E e e e w1 2r A0 & @) wam
TR SiE TALE TS i wfEme =

(A) BE (B) 4E
(C) 2E (D) E/2

The number of waves that reach the shore of a lake per minute is 15. If the
wavelength of the waves is 40 m, then the velocity of the waves is

(A) 600 ms™ (B} 60 ms™

(C) 54 ms™! (D) 10 ms™

o= 0@ o= Taem ARG 150 &6 s e EheEE et 40 m A, ST
TANCALS A A

() 600 ms™ (B) 60 ms™’

(C) 54 ms™’ (D) 10 ms™!

The density of a material at 10 °C is 214 gm,n’:ic, then its density at
500 °C will become

[given coefficient of linear expansion of the material = 9 % 107°/°C]
{A) 20-12 gm/cc (B) 21-12 gm/cc
(C) 22-12 gm/cc (D) 23-12 gm/fcc

10 °C ‘Saswry ceIAT “Hieds g 214 gm/cc T, 500 °C TwEH & 0T TNy T4
(@ oA T 2T @eTE = 9 x 1075/°C]

(A) 20-12 gmce (B) 21-12 gm/cc
(C) 22:12 gm/cc (D) 23-12 gm/cc

9-PC—Series R 3 [B.T.0.
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6. The r.m.s. velocity of an ideal gas molecule varies with absolute temperature
-~ |
L L
(A) Vepq, =T? (B) Ur.ms =T3

B |

(C} Vems =T (D) Vs, =T

Y1 CICT S S SR F W A (romes.) QO oW Taem A sfiaseE eed e

1 1

(A) Urme =T? IB) Ve, o T3

b2 | L2

(C) Vrms =T (D) Vims, =T
7. Atwhat angle of inclination of two plane mirrors produce 5 images of a bright
point object?
(A) 120° (B) 90°
(C) 60° (D) 45°
9| §'TG Farwe el S @I WG IR AU TR T A ﬂmmwﬁm
e =37
(A) 120° (B) g0°
(C) 60° (D) 45°

8. A convex lens of focal length 30 em produces an image of size one-fourth of
the size of the object. Here object-distance is

(A) 30 cm (B) 40 cm
(C) 60 cm -~ (D) 90 em

vl T TEe G G T anmamafhwmﬁﬁﬁsﬁmmmmﬁ
T | T T T

[A) 30 cm (B] 40 cm

[C) 60 cm (D) 90 cm

9-PC—Eeries R 4



9. The focal length and diameter of the objective of a telescope are 120 em and
5 cm respectively, If the focal length of the eyepiece of that telescope is 2 cm,
then magnifying power of the telescope is

(&) 24 (B) 44
(C) 60 (D) 120
51 @37 i Togn weeTsd (@ U 120 om @3t M 5 om | €A SfEHER @
1 2 om =A, TEon BAee e e
(A) 24 (B) 44
(C) 60 (D) 120
10. Two pair of thin metal plates of area A each are connected as shown in the

figure, If d is the distance between the consecutive plates, then the capacitance
of this combination will be

d §
A
2 JeqA
) 222 m) 292
S5gnA
(C) % (D) E{?

sol A CEEEeRmg 3 (Wip! +Toe g =A1e forgs 219 1% 3 4% 41 T 4FS Fa T
AT d == e p T e TN | R aEE T

<_ ' Ad'gjﬁ.?"'

4 ' | " BegA.

(A) Eaf B) =3~
2

) 224 _ o) 2%
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11. When all the corners (vertices) of a cube of side a is given one electron each,
the electric potential at the centre of the cube will be

() J3e J3e
) de
IC) = /3 TEoa (D) zero

33 a IERME G TR S Afamre wofl 79 B M wea @y ofpe feE

i+ =4
- -
yde J3e
A = e
J¢
(C) _\EIEGE (D) *1

12. 90 identical cells are connected in mixed combination to get maximum current.

: 1
If internal resistance of each cell is mth of the load resistance, then the

arrangement must be

{A) parallel combination of 3 series of 30 cells each
(B) parallel combination of 5 series of 18 cells each
(C) parallel combination of 6 series of 15 cells each

D) parallel combination of 9 series of 10 cells each

sa1 90 5 =few Sfte e fm waE ge wwEm s wfEadas et o #F @i
R [ T @A % Hee FE, (AN $Eld WHs TR0
(A) Parallel combination of 3 series of 30 cells each
(B) Parallel combination of 5 series of 18 cells each

(C) Parallel combination of 6 series of 15 cells each
() Parallel combination of 9 series of 10 cells each

9-PC—Series R [



13. The rating of a heater is ‘220 V — 100 W’. The heating element is cut into
two equal sections and then connected in parallel to the same source. Energy
generated per second will be

(A) 25 d (B) 504
(C) 2004 (D) 400J

vel 497 TE TR AmiE 220 V — 100 W' SR 0 ANE T-FOE S0 AN
THATH 3% TR Y IE A oS OEnE T% wied e I
(A) 25.J (B) 50J
(C) 200J (D) 400 J

14. A bar magnet of magnetic moment 2 A-m? is hanging in equilibrium position
in a magnetic field of strength 5 = 1073 T. Work done to rotate it to the opposite

direction is
(Al 10724 (B) 2% 1072J
(C) 10J (D) Zero

¥81 2 A-m? (Bree Tl osfh we prewe wngEEE 5« 107 T B9 (9LE @ W)
7o G AEEE U Rede eyt s g e =

(4) 1072 J (B) 2%1072 ]

(C) 10J (D) *F

15. A 50-turn circular coil has radius 3-14 cm is carrying a current of 3 A. The
magnetic field produced at the centre of the coil is

[A) 3%107°T (B) 3x 10T
(C) 3=107%T (D) 3= 1073 T

Yl & JEeE FoAE A€ 314 cm @ AF AN 50| F FIRTT 3 A 277E “E FoA
@UE BeHH BT (wiEE T =

(A) 3=107°T B) 3x107°T
(C) 3x107%T (D) 3%107°T

9-PC—Series R T [P.T.0.
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16.

2%

17.

11

18.

b4

Magnetic flux associated with a coil of resistance 10Q .iﬂ given by
® = 5 - 4¢ + 1 Wb, Current induced in the coil at 0-2 second will be

(A). 04 A (B] 02 A

(C) 0-04 A (D) 002 A

10 @ @HRME <3 PaFTs SEfe Gue e TR ¢ = 5£ - 4t + 1 Wh |
0-2 CTETE TEATE WY witesras wW 79

(A) 04 A (B) 02 A

(C) 0-04 A (D) 0:02 A

=

In an electromagnetic wave, if electric field and magnetic field are given by E

_:|.
and B respectively, then direction of propagation of the electromagnetic wave
will be along :

A) E B) B
(C) ExB (D) BxE

- b
e 43 St T wfturre a3 (B9 O TR E OF B9, S e
WeqY 4 AN T4, W 5
=p : y iy
(A) E (B) B
- = - =+
IC} ExB D) BxE

If Bohr radius is B then the radius of n-th orbit of an atom of atomic number
Zig

2
agn gh

(A =% B 25
an agZ”
i D

(€ 2 ) =

@ e a T, Z-5rae TRAEME G AR 09 PO e =

2
agn Soh

(Al g (B} 72
ag& apZ®

(C) 3 (D) ==
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19. The mass defect of the nucleus of a Helium atom is 0-0303 amu. Then binding
energy per nucleon of a Helium nucleus is nearly

(A) 4 MeV
(B] 7 MeV
(C] 14 MeV
(D) 28 MeV

s RN e feEwE sl 00303 amu T, #fEh FeEEER 16 7fE T3 o
(A) 4 MeV
(B) 7 MeV
(C] 14 MeV
(D) 28 MeV

20. In a photoelectric experiment, if photon of energies two times and three
times that of the work function of the metal is incident successively on the
metal, the ratio of maximum velocities of the emitted electrons will be

(A) 1:42
(B) v2:1
(C) y2:43
(D) J3:42

a0l I EETE wive famre w%mwwwﬁm e T wiasoery
GrGe meiEs =, e o] - Ao T DT WYt =

(A) 1:42
(B) J2:1
(€ ¥2:43
(D} 3:42

9-PC—Series R E _ [P.T.0,
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21. o
1 =3 D'\l ! Switch closed = ]

Gilow = 1

The equivalent logic gate corresponding to above circuit is

[A) AND (B) OR
(C) NAND (D) NOR
Rl ﬂ'.\l @ le Switch closed = 1
Glow=1
BeTATE TEA TS e s o
(C) NAND (D) NOR
9-PC—8eries R

10



22. The dimensional unit of electric permittivity in free space is
(A) MELATP?
(B] MLPT?1?
(C) MLPT3

(D) ML

33| = WHE SfEe (OO WiEl WOFS 2
|A} MELATR
(B) ML3T?I?
(C) M7

(D) M3

& A - A A A
23. The angle between the two given vectors A =-2{ +3j+k and B=1+2j-4k
is

(A) 0°
(B) 45°
(C) 90°

(D) 180°

voI A=-21+3]+k @ E=?+2f—4ﬁ: (SRR SRS T T
(A) O°
(B) 45°
(C) 90°
(D) 180°

9-PC—Series R 11 ' - RO,



25.

2@l

28 10s —» ts) 208

A graph of velocity vs. time for an object moving in a straight line is given. The

ratio of distance travelled by that object in initial 10 s by that in the final 105
is

(A) 1:1 B) 2:3

(C) 4:3 (D) 3:2

1 i |
538 10s —+ ts) 20s

TG TR A a5 g oot 7w o vafew orem Wty | TgEES N 10s @
R 10s A9 SETIE [T G90S %9

(A) 1:1 (B) 2: 3

(C) 4:3 (D) 3:2

Starting from O an object of mass 2 kg i= moving along OQ with a velocity of
5m/s. A 4N transverse force (perpendicular to 0Q) is continuously acting on
the object. The displacement of that object after 45 from O point is nearly

(A) 133 m (B) 202 m
(C) 256 m (D) 399 m
2 i sTa @310 T 5 m/ s @ O B i OQ FALE N AT Tt s e | 7l
MY OQ cifa ATy FTeE 41 39 4 N 54w %0 390 | 4 5 T O ot =g s
(A) 133 m (B) 202 m

(C) 256 m (D) 399 m

9-PC—SBeries R 12



26. The time period of oscillation of a simple pendulum hung inside a lift is T,

ER-]

27.

<91

When the lift is moving upward with an acceleration g/4, the time period of
pscillation of the pendulum will be

w5

2T

B 75

V5

©) 5

2
©) T

a2 Pt foem Qe o = ol e T Bl g/4 T S «fE
e (FEiha (T W

@) B

(B)

(C)

(D2}

Gle Sle 618 .

The momentum of a moving body p varies with time tas p= at® + bt + ¢, where
a, b and ¢ are constants. The force acting on the body at time t=01is

(A) a iB) b
(C) ab (D) 2ba

T (-7 T T SR T SAAT p-a@ ¥eed p = af’ + bt + ¢, (N a, b«
CTA FAF | { = 0-(% FEurie W T ™

(A) @ S (B b

(C) ab (D) Zba

9.PC—Series R 13 o TR




28. A ﬂu!‘?&rt on a canal is like a section of circle of radius 40 m. What will be the
maximum speed of any car such that it does not detach from the road during

crossingy
(A} 10 m/s (B} 20 m/s
(C) 30 m/s (D) 40 m/s

AWl 40 m FeNAREE 30 0T T-wame wa oTp T ATEE Te IR | BN A =
w1 I Al S A T w=fore o om T 2EE T

(A) 10 m/s (B) 20 m/s
(C] 30 m/s (D) 40 m/s

29. When a force of ; =(5 T+ .3f+ zi?_m is applied on a particle, its displacement
from the origin r = (2 £ _?] m. Work done on the particle is
A) =7 J (B) 7J
(C) 104 (D) 13 J

351 R TR TR F=(55+3 ]+ 2R)N o1 swm v TR U R W
7 = (21~ ym | Fs Tom o Fofem Foard
(&) -7 J (B) 7J
(C) 10J (D) 134

30. The radius of a planet is double that of earth but its average density is same

as that of E-El.l"th. [f the escape velocity from earth is V.. then corresponding
escape velocity ‘Ii-"'}_,l from that planet will be

(A) Vp =242V, (B] V, =42V,
1

€ V=2 Ve =—=V,

€ Vp (D) ¥p=5Ve

©ol FIE GF avea e s e et o <t o <fatTher wmm oy | sifedies i
QU T VT, & 90 IE @O T v, 3 |

(A) V,, =242V, (B) V, =42V,
1
(C) vp =2V, (D) Fp o EFE

9-PC—Eeries R 14
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w3l

el

33.

ael

CHEMISTRY

At 27 °C temperature and 20 atm pressure, a cylinder having water capacity
2-82 L is filled with H,(g]. How many round shaped balloons (radius 10-5 cm)
can be filled with the aid of available H,(g) from the cylinder at STP?

(A) 100 (B) 10
(C) 11 (D) 12
27 °C SIS G9% 20 atm 511 @3 FEH, 9w wael 2:82 L, H,g) 99 1 =
(0% | STP-® @ fere (403 a1 H,(g) w1 o cream @ (P 105 em) 1

= AT
|A) 100 (B} 10
[C) 11 D) 12

50 cc 0-1 (M) Ca(OH), solution is diluted with water and the final volume

becomes 500 ce. Caleulate the pH of the resulting solution.

(A) 11-69 (B) 16:31

(C) 12-31 (D) 1569

50 cc 01 (M) Ca(OH),— &9 B & T FA FYFATTE WA WEW wAes 500 co FH
= | Beom BT pH e ¥

(A) 11-69 (B) 16:31

(C) 12:31 (D) 15-69

A blood sample contains 2 (M) H,CO,. Suggest how much 5 (M) NaHCO,
solution is to be added to this 10 ml blood sample to maintain the blood pH
at 7T-4.

(Condition : K, of H,CO, in blood sample = 7'8 x 1077]
(A) 79-8 ml (B) 89-7 ml
(C) 7-98 ml (D) 897 ml
3l amea T H,CO,~4% 17 2 (M) 10 ml 6% 0% 7 ¥ WA 5 (M) NaHCO,
B9 Cq T WG pH-F WA 74 TR €0 G 2R
. =T
[*% ; TG H,CO,- 9% K, = 78x107]
(A) 79-8 ml (B) 897 ml
(C) 798 ml (D) 897 ml

9.PC—Series R 15 - |P.T.0.
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35.
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36.

-1
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Lithium (m) forms body-centred cubic lattice whose every edge length of
cell is 351 pm. What will be the atomic radius of Lifm}?

(A) 300 pm (B) 152 pm
(C) 240 pm (D} 75 pm

e (41p) CTECSRES WEIER WPt AR oTE, OF 459 (0T ufel REER T
351 pm| ffemm (41%)-a7 ~mafis g ¥ 54?2

(A) 300 pm (B) 152 pm

(C) 240 pm (D) 75 pm

A solid compound XY’ is structurally similar with NaCl. If radius of the cation
(X*) is 100 pm, then predict the radius of the anion W@i'

{A) 2751 pm (B) 322:5 pm

{C) 1657 pm (D) 241-5 pm

46 A At XY -7 S NaCl-e7 794 | 7% 10w (X7)-a3 ¥ 100 pm =,

B HWE ﬁ'ﬁﬂww el WS |
(A) 2751 pm (B) 3225 pm
(C) 1657 pm (D) 2415 pm

If the following redox reaction is being balanced, then which one of the

following is appropriate?
aMn"® + BBIOS + e — aMnOSr bBi™ + a0

(A) a=3 (B} b=5

(C) e= 10 (D) d=6

forpa mmae-faeiad RfEE TregE AT o, FeEReatm o et w50
aMn™ + BBIOS+ cH' —+ aMnOS: bBi” + aH,0

(A) a=3 (B) b=5

(C) c= 1D D) d=6

G.PCSeriegs B 16




37.

=1l

3B.

ehri

39.

il

Depression of freezing point of a glucose (FW = 180) solution (45 gm glucose
dissolved in 250 gm water) is equal to the CaCl, (FW = 111) solution
|W gm CaCl, dissolved in 250 gm water). If K of water is 1-85 K kg mol™! and
CaCl, ionises completely in water, then the value of W will be which one
among the following?

(A) 0925 gm (B} 2:775 gm

(C) 1-539 gm (D) 0-875 gm

250 gm WA 4-5 gm JE (FW = 180) 599 Ja0m B9 fEare =@=ms 250 gm W
W gm CaCl, (FW = 111) 53g® 307 oie FarR e semmm e =) 1 s
K, = 185 K kg mol ™" &3t &1 CaCL, =v{0 WS &, w13 W-a7 31 Fafefeain
e fc ik

(A) 0925 gm (B) 2:775 gm

(C) 1:539 gm (D) 0-875 gm

0-4 amp current is allowed to pass into the dilute agueous solution of NaCl
for 5 min. Generated base requires Vml 0-05 (N) H,50, for neutralization. .
Find the value of V.

[A] 49-6 ml | (B) 124 ml

(C) 24-8 ml (D) 74-4 ml
NaCl-47 = &g 5em 3 FE 04 wniewm sftedas 5 fEE seee =m @ =
Beefy =, @ #fS FA0E Vml 0-05 (N) H,S0, #0ams= 2| V-«a3 99 fda 7=

(A} 49-6 ml (B} 12-4 ml

(C) 248 ml (D] 744 ml

‘3 gm active charcoal is added to 50 ml 0-06 (N) acetic acid solution. After

1 hour, the mixture is filtered and the concentration of filtrate becomes
0-042 [N). Determine the amount of adsorbed acetic acid by every gram of
active charcoal in this process,

(A) 18 mg (B) 36 mg
C) 42 mg (D) 54 mg

50 ml 0-06 (N) <=6 =it =iFEs B901 3 gm HaFw BRI @M 41 %9 | 1 951 10,
firmeift fetrm o, wifinema STGE 0-042 (N) *S%1 51 | €% ~afSTa o 9% Fry v

s wfiafis weha TR AR i e
(A) 18 mg CU TS (B)i86img
(C)] 42 mg fEE ) D)l me

g'FE‘-EEI'IE!’l 51? ; : [.PIT.G:I :




40.

41.

Bal

42.

Bal

reaction with hot cay,
Which among the following metals produces H ,10) o1 tig

soda?

(A) Mg (B) Cu

(C) Fe (D} Zn

gy FHoe orem T e e ey RfEw FE Hylo) BerH FAT
(A) Mg (B) Cu

(C) Fe (D] Zn

Increasing ionic character of the halogen hydracids follows which amang thy
following trends?

{A] HF = HCI < HBr < HI

(B) HI < HCI < HF < HBr

(C) HI < HBr < HF < HCl

(D) HI < HBr = HCI < HF

s SAETEaiE suatam WA s Pl @ eRest G BT
(A) HF < HCl = HBr < HI
(B) HI < HCl < HF = HBr
(C) HI < HBr < HF < HC
(D) HI < HBr < HCI < HF

Which of the following is called galvanization process?
{A) Znim) coating over Fe(m)
(B) Al{m) coating over Fe(m)
{C) Snim) coating over Fe(m)

(D) Cufm) coating over Fe{m)

R alma 0 CHRIDUE TTeTsIAea *afs = 507
(A) Fe{m)-2% B9 Zn{m)-£= 90=

(B) Fe(m)-4= ST Al(m)-a3 g9

(C) Fe(m)-93 TA Sn(m)-a7 HA%

(D) Felm)-48 B0 Culm)-47 o=

BPC—Series R 18
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In vapour phase, BeCl, exists in the monomeric and dimeric states; but in
the solid phase it exists solely as polymeric chain. Predict the hybridized

state of Be-atom in the mentioned states.
(A) sp?, sp®, sp
(B) sp?, sp, sp®
(C) sp, sp?, sp
D] sp, spﬂ. Spﬂ

AN STEE BeCl, WAMR &3t TEAE-T W 0w, I wwEw aft s
sieTaiiEs WRFHH W 3 | FgwaeaTs Be owEE Al WAy S W &g 949 |

(&) sp?, sp”, sp
(B) sp*, sp, sp°
(C) sp, sp*, sp°
(D) sp, sp, sp®

Write the reagent(s) for the following transformation.

CH, CHO

© —©

(A) alkaline KMnO,
(B) K,Cr,0,/H,S0,(dil)
(C) CrO,/HOAC/Ac,0
(D) CrO,/4(N) H,SO,

88| Fem sy o= fiems /ReEesim am @ |

CH, CHO

® —©

(A) =AW KMnO,

(B) K;Cry0,/H,50,(m)
(C) CrO,/HOAC/Ac,O
(D) CrO,/4(N) H,S0,

9-PC—Seriss R 19

[P.T.O.



45. Predict the final products of the following reaction.
O — CH;,

@/' + HI —=—» Products

(A) Methanol + iodobenzene
(B) Phenol + methyl iodide
(C) Phenol + methanol

(D) lodobenzene + methyl iodide

sql FraffEs AfEnhe s smdaf Ty =99)

O — CH,
@/ + 11 —2 s miEm emds@

(A) T + SETsTEtEE
(B) == + fents =marss
(C) s + fharms

(D) =CATsTEie + Maids e

46. [dentify the product of the following reaction.

NO,
({é Zn/NaOH/H,0
* Product
ful
(A) Hydrazo benzene (B) Aniline
(C) Azobenzene (D) Azoxybenzene

anl FmEfrs A Bewn AW AWE 99

NO,
7 ;
anaE;Hf M0, oo o
(A) TEEICETCAfE (B) =mfafes
(C) e Ae (D) wCsfTgs

9-PC—Series R 20




| 47. How would you distinguish nucleotide and nucleoside considering their

structural features?

(A) Analysing the presence of phosphate unit

(B} Analysing the presence of heterocyclic base unit
(C) Analysing the presence of nucleic acid

(D] Analysing the presence of H—hond

891 o ATFE-49 FEE FiiEebiie « Feientn-an o o FEe! Aidw T

Bl

(A) THCED awTey TS fave 3w

(B) GEbErTEEs W aws by fom v
(C) Frefee =nifes Eeifafs fmm 3=

(D) FEEE am By fast

Affirm the sugar unit being generated upon compiete hydrolysis of cellulose.
{A) D-fructose

iB] D-glucose

(C) L-glucose

(D) D-ribose

AT T - Rt Beem 2em M G RS )
(A) D-gF0E

|B) D-3Cere

[C) L-gr=r=
(D) D-#reTs

5-PC—Series R 21 | P.T.0:
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49,

&l

dol

51.

al

Predict the key structural aspects of natural rubber.

(A) Composed of random cis-structure and trans-structure

{B) Completely cis-structure
(C) Completely trans-structure

(D} Alternative cis-structure and trans-structure

e FRTAR 34 Toere wiEafe fgs =)
(A) TS cis-TIAFE  trang-sHTais 75
(B) 3o cis-sirgie

(C) =54 trans-sfmTFiE

(D) *rfEad cis-101F(E @ trans-s1T

COlg) damages which part of the human body mostly?
(A) Liver (B) Kidney

(C) Blood (D) Lungs

CO(g) THIHAAE (FH Wea 7AW @ Fo TP

(A) Tem (B) f=f

(C) 7= (D) e

Which among the following compounds remains silent during iodoform test?

(A) Ethanol

" |B) Propanone

(C) 2-phenylethanol

(D) 1-butanol

s cistafm wmg T SEERR R S ane
(A) ZeeT

(B} CHTHTEAT

(C) 2-firiEe 2R

(D) 1-faEhEm

B-PCSeries R 22
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=1

If the density of methanol is 0-8 kgL', then find the volume of methanol
required to prepare 2:5 L 0-25 (M) aqueous methanol solution.

(A) 25 ml (B) 40 ml

[C) 2:5 ml (D) 20 ml

et ¥y 0-8 kgl 20, 0-25 (M) ST5034 2+5 L wé e @97 o $a0s dmmem
e wWEes Ry =

(A) 25 ml (B) 40 ml

{C) 2:5 ml (D) 20 ml

Mention the eorrect set of four quantum numbers bearing valence electron
of Rubidium atom (£ = 37) among the following.

(A) 5,0, 1, +4
(B) 5,0,0, +%

(C) 5, 1,0, +3

D) 5. 1,1, +4

gw| TEETE SRUIEE (Z = 37) CUETS! YAEhEE SAD CEAMNE A Aew o Fensaim

qCH] (AT R 94|
(A) 5,0, 1, +3
(B) 5,0,0, +4
(C) 5,1,0, +3

(D) 5,1, 1, +4

9-PC—Series R 23 |P.T.O,




59, Follow the decomposition reaction -

Gl

|

@—ﬁa N Cl —s @—cl + Ny(g)

If the concentration of benzene diazonium chloride at 0 °C is made double,
then the rate of formation of N, (g) is also doubled. Determine the order of
the decomposition reaction,

(A 2 (B) 3

C) 1 (D) 4

W 0 °C e, Gl TwTETT GRS 16 Red w6 ™, 9 N, (g)- 97 Beet
se fed w1 | Rures Rienhs o= fdg 99

(A) 2 (B) 3
(€) 1 D} 4
At 1 atm pressure, if a sample of H,|gl be dis=olved in ice-water mixture, then
it assumes 69-37 cc volume. Further, if the same sample of H,(g) be dissolved

in boiling benzene also at 1 atm pressure, then its volume approximates
89-71 cc. With these observations, predict the boiling temperature of benzene.

(A) 80-05°C (B) 35305 °C
(C) 211:10 °C (D) 22:79 °C
T ¢ W R H, (g) -4 s s et A, 1 atm B0 @7 6937 cc |

SRR, T& H,(g)-9% T 1 atm 5 358 (e B samer ot 8071 oo
WIEeA S T | 4 AT TR @i g s

|A) 80-05 °C iB) 35305 °C

(€) 211:10 °C (D) 2279 °C

9-PC—Series R 25
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